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Name: Class & Sec: Roll No. Date: 17.08.2020

<{ Exercise 5.2

In the given figure, the arms of two angles are parailel. If A ABC = 707, then find:

W) = DGC Qi) ~ DEF

Question S

Answer S:

i) Given, AB || DE and BC is a transversal line and -~ ABC = 70"
~ ABC = -~ DGC [Corresponding angles)
LDBCwmTO®Y === saieess i)
i) Given, BC || EF and DE is a transversal line and -~ DGC = 70°
<~ DGC = -~ DEF [Corresponding angles]
< DEF = 70° [From equation ()]

Question 6

In the given figures below, decide whether | is paralie!l to m.

Answer 6:
o) 126" + 44” = 70°
11l m because sum of interior opposite angles should be 180°
i) 75° + 75% = 150°
1|l m because sum of angles does Nnot obey the property of paraliel ines.
@iy 57° + 123% = 180°
11l m due to supplementary angles property of parallel lines.
v) 298° + 72° = 170°

| is not parallel to m because sum of angles does not obey the property of
paraliel lines.
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